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25. (2 boda) v=2rnf 1 bod

f=—  —153.10%Hz 1 bod

2rmw

26. (2 boda) g= ﬂz 1 bod
(R +h)

h = 989 km 1 bod

27. (2 boda)  lgggc =lo(@+17-107° 1) 1 bod
o lsoo° ¢

0= ——=5939m 1 bod
(1+17-107° 1)




28. (2 boda) Uy =2202 V 1 bod
z-% 1109 1 bod
IO
29. (2 boda)
20 cm 1 bod
1 Ay
I —
v N 5cm 1 bod
L]_ I—2
Odgovor: LilL>-20-5=15cm
1
30. (2 boda) N o No 1 bod
1 _L
gNO:NO-zT t = 84 dana 1 bod
31. (4 boda) M3 e 1 bod
o 500
Fg =mg =150N 1 bod
Frez =Fg —Fy =90N 1 bod



32. (4 boda)

33. (4 boda)

34. (4 boda)

35. (4 boda)

RA,B = R/2
R
UA.B ZUC ZEZR
UA,B+ Uc = 120 V
UA=UB=40V, UC=80V

AV =4.10"3m3
W = p-AV =1200 3
Q=W +AU
AU =1800 J

-3
d= 10~ =2,5'10° m
400

k=5
sinazkizl,z
d

Svijetlu pruga petog reda ne vidimo
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1 bod
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1 bod



